

### राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद्

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

#### NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

# Certificate of Accreditation

The Executive Committee of the National Assessment and Accreditation Council on the recommendation of the duly appointed

Peer Jeam is pleased to declare the

S. J. E. S. College of Arts, Science and Commerce Sion (West), Mumbai, affiliated to University of Mumbai, Maharashtra as

Accredited

at the B++ level.

Date: January 08, 2004



Director

J: 24 1- 5

This certification is valid for a period of *Five* years with effect from January 08, 2004

An institutional score (%) in the range of 55-60 denotes C grade, 60-65 -C+grade, 65-70 - C++grade, 70-75 - B grade, 75-80 -B+ grade, 80-85 - B++ grade, 85-90 - A grade, 90-95 - A++ grade, 95-100 - A++ grade



Name of the Institution: S.I.E.S. College of Arts, Science and Commerce

Place: Sion (West), Mumbai, Maharashtra

Criterion	Criterion Score (Ci)	Weightage (Wi)	Criterion X Weightage (Ci x Wi)
I. Curricular Aspects	82	10	820
II. Teaching-learning and Evaluation	80	40	3200
III. Research, Consultancy and Extension	70	05	350
IV. Infrastructure and Learning Resources	75	15	1125
V. Student Support and Progression	84	10	840
VI. Organisation and Management	82	10	820
VII. Healthy Practices	86	10	860
		100	$\Sigma C_i W_i = 8015$

Institutional Score = 
$$\frac{\sum C_i W_i}{\sum W_i} = \frac{8015}{100}$$

Director









### राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

#### NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

## Certificate of Accreditation

The Executive Committee of the
National Assessment and Accreditation Council
on the recommendation of the duly appointed
Peer Jeam is pleased to declare the
SIES College of Arts, Science and Commerce
Sion (West), Mumbai, affiliated to University of Mumbai, Maharashtra as

Accredited

with CGPA of 3.14 on four point scale

at A grade valid up to March 27, 2015

















### राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

#### NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

### **Quality Profile**

Name of the Institution : SIES College of Arts, Science and Commerce

Place: Sion (West), Mumbai, Maharashtra

Criteria	Weightage (W <sub>i</sub> )	Criterion-Wise Grade Point Averages (Cr <sub>i</sub> GPA)	W <sub>i</sub> X Cr <sub>i</sub> GPA
I. Curricular Aspects	050	3.10	
II. Teaching-Learning and Evaluation	450	3.10	1395
III. Research, Consultancy and Extension	100	2.70	270
IV. Infrastructure and Learning Resources	100	2.85	285
V. Student Support and Progression	100	3.40	340
VI. Governance and Leadership	150	3.53	530
VII.Innovative Practices	050	3.30	165
Total	$\sum_{i=1}^{7} w_i = 1000$		$\sum_{i=1}^{7} (W_i \times Cr_i GPA) = 3140$

Institutional Score = 
$$\frac{\sum_{i=1}^{7} (W_i \times Cr_i GPA)}{\sum_{i=1}^{7} W_i} = \frac{3140}{1000} = \boxed{3.14}$$

Grade =

Descriptor =

VERY GOOD

Date: March 28, 2010





Scores rounded off to the nearest integer



This certification is valid for a period of Five years with effect from March 28, 2010 An institutional CGPA on four point scale in the range of 3.01 - 4.00 denotes A grade (Very Good), 2.01 - 3.00 denotes B grade (Good), 1.51 - 2.00 denotes C grade (Satisfactory)







### राष्ट्रीय मूल्यांकन एवं प्रत्यायन परिषद

विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

#### NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

## Certificate of Accreditation

The Executive Committee of the

National Assessment and Accreditation Council

on the recommendation of the duly appointed

Peer Jeam is pleased to declare the

SIES College of Arts, Science & Commerce

Sion (West), Mumbai, affiliated to University of Mumbai, Maharashtra as

Accredited

with CGPA of 3.51 on four point scale

at A grade

valid up to May 10, 2020

Date: May 11, 2015



Populace

Director









विश्वविद्यालय अनुदान आयोग का स्वायत्त संस्थान

#### NATIONAL ASSESSMENT AND ACCREDITATION COUNCIL

An Autonomous Institution of the University Grants Commission

## **Quality Profile**

Name of the Institution : SIES College of Arts, Science & Commerce

Place: Sion (West), Mumbai, Maharashtra

	Criteria	Weightage ( W <sub>i</sub> )	Criterion-wise Weighted Grade Point (CrWGP <sub>i</sub> )	Criterion-wise Grade Point Averages (CrWGP <sub>i</sub> /W <sub>i</sub> )
I.	Curricular Aspects	100	300	3.00
Π.	Teaching-Learning and Evaluation	350	1280	3.66
III.	Research, Consultancy and Extension	150	480	3.20
IV.	Infrastructure and Learning Resources	100	320	3.20
V.	Student Support and Progression	100	370	3.70
VI.	Governance, Leadership & Management	100	390	3.90
II.	Innovations and Best Practices	100	370	3.70
	Total	$\sum_{i=1}^{7} w_i = 1000$	$\sum_{i=1}^{7} (CrWGP_i) = 3510$	

Institutional CGPA = 
$$\frac{\sum_{i=1}^{7} (CrWGP_i)}{\sum_{i=1}^{7} W_i} = \frac{3510}{1000} = \boxed{3.51}$$

Grade =

Descriptor =

VERY GOOD





Date: May 11, 2015



An institutional CGPA on four point scale in the range of 3.01 - 4.00 denotes A grade (Very Good), 2.01 - 3.00 denotes B grade (Good), 1.51 - 2.00 denotes C grade (Satisfactory)



